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daga cilaylas )
S (£0) Glaie¥) Al S Al 2xe -
Jada (YA) glaie¥) il £ Ciladia aae -
Sl g gl olaiel) Al S cladia die Gy Al a8 5 e U -
(lela EDE) LAY (e -
An D (Te) DU Al ds 0l -
pAgling claglatl) oda B .. lllall (g 350
ALY e anl Lghpn g Al dadie s laie¥) Al S dadia (e JS 8 13 cilagledl) § 3
Ala) B el U8 s 48 S8 iy JIsadl 18
AUy e aladind ade 5 ecila gyl (8 alia )l lal g ¢ Aladl (5 5Y) Calall Gl aadi
dalisad dalall Al s Lladl daadid) Al ) 8 Caal ddlaal) Al elils) xie
Ll 3LEY) e 33 sl ladin 3 e JLeSind (S (5 A
e JS (o e Baal g dady LlaY) qgthaall g ¢ pladd daa s i) )
. did (B) 5 (A) o ol A LEaY) AdEd) ALY e olila) vie
T g O e (a JUEAY) Aliud ce dila) die
s JS0 SLS SLUss dgaall Ay e JIal) el cald s yalall Qi
s (C) dagaall Aay) 10l
@
% : dasasal) 4laY)
@
Anina LY cead dasaias Als) Cual s el cad o cad s cunl 13 e dlls A -
Lot ) ot Uad Als) Gl s hadlly a2 ¢ A Al Cual 1Y Lol 45 -
; 40 gata
Al gl Say e SSH e ST a5 )3 (Adaia G JLEAYY) A gua gal) ALLY) Al
Mol LYl el ¢ Alay) )
y
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Write all the chemical equations A0 LS DY s Laed) aien S|
balanced including the conditions of LSl do g ph 4S5 g b ke

the reaction: .
Answer the following questions: PAGYI ALY po o

1- Choose to answer (a) or (b) : () 91 (1) o Al W1 5 -
Write the scientific Expression kall ple JId elall pllaall cast
indicated by the following sentence: ($ Fhanel o HialLgud iy A1 puoliath (1)

.((M\:‘:-ﬂfi))..ﬁl@&ij} 4d‘:’2).d.”
s e Jgamt Lgie Caugdl Ades) (o)
Adee cewlS voust als (40 8 o

(a) The elements in which the sublevel
(4d) is filled successively and they
are found in the fifth periods.

(b) The process of obtaining the iron ore in b
a small size suitable to be reduced easily.

2- Choose to answer (a) or (b) : (@) 91 (1) oo Aala 1 5 -
How to detect practically by using the | ila¥ia il L 2 isia s
main experiment, explain by chemical ileasst) Aalatly e 931
equation: S g IS (5,518 (1)

(a) Calcium cation. s(ID) a1 05518 (<)
(b) Iron (II) cation.

2 MS’I@D
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3- Choose to answer (a) or (b) :
Explain:

(a) The law of mass action is applied on
ammonium acetate solution and is not
applied on sodium chloride solution.

(b) The reactant molecules could colloide

with each other and no chemical
reaction takes place.

() 9 (1) e Al M1 S -
1 ud
Jolome e LS Jad 9318 Gdais (1)
Jsloms e -dais ¥ g p g 5 ¥ Sl
Posagall wayels
2o elaial! slgett Ol o pulawa’ ud (o)
LJelad G ¥ g Lgan

4- Choose the correct answer:

: dovowall Al W ) - ¢

Dilute hydrochloric acid is used to detect | o <asalt whi 518 g sugd! e puisin

the anion and cation:

@ Carbonate and calcium.
@ Nitrite and silver.
@ Sulphate and mercury.
@ Phosphate and lead

5- Explain:
The colour change by heating nitrogen
dioxide gas which is in a closed glass

flask at room temperature. Write the
chemical equation.

1090189 901 (e 2SI
gt ST Ol g S @
Aaalg Co ! @
S
ool y1 g Oilaw gal @

e (9l (B Gl ikl il -0
9=y @G ) 893 (el
A )3 (B (i 9 ) ST D (L
Aslaally o ol e (4D paT1 3y p

R Wic| BP<

3
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6- Choose the correct answer: s Aovovall Al W i) -1
The ions which have the electronic TP (PSS (P uﬁmbsﬁz
configuration [Ar], 3d* are: s [Ar] , 3d
@ Mn?*/Co* Mn**/ Co™" (D
® Fe**/ Fe'/ cr't ©
© '/ Mn** /M’ @
@ Fe**/ Mn®* Fe?*/ Mn®* @

7- A galvanic cell consists of zinc electrode | su—e)>t e Laldad d_dlals A s -V

and standard hydrogen electrode. 1 @l (e 9 gt g
First : Write the cell diagram for this s 00l o> a1 ja 11 LIS Y g
cell. I3 (Alonly As oS AadId 1 5 gAY ) Ccunmd LSS

Second: Calculate the emf of this cell. If | cett! gl J=d e Ol
the standard reduction potential 52 (-0.76)
of zinc 1s (-0.76) volt.

4 MS’I@D
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8- Complete the table :

1L J ot JaST -A

polymer
e gt

Type of polymerization
3 peldleod

Structural formula of the polymer

ol 5ald AL Rl

Dacron
RS

Teflon
Oslaid

9- You have a piece of leather, show by
a practical experiment how to detect
the presence of carbon and hydrogen
in the structure of leather. Write the
chemical equations.

Ldee il a8 Alandl (po dakad ELout -4

REE FIREPL (PRYSPEE [PrRUSE PR

Tl pe Sl CeS 55 B OO
CAO LS O alael Ly

5
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10- Choose to answer (a) or (b) :

Write the scientific expression indicated

by the following sentence:

(a) The systems which convert the stored
chemical energy to electrical energy
through a spontaneous irreversible
oxidation-reduction reaction.

(b) The mass of the substance that has the
ability to lose or gain one mole of the
electrons during the chemical reaction.

(@) 91 (1) e Al ¥ p>i-\
13kl le JIA elall allaal| CCS|
Aot ABLaY (i goni Lgud @iy Aotasly (1)
IS (e Ao pgS A8l 1) 23505l
el LES JI3ia g BuuS] Jolas

P LISY

91 AE Lo 5yual Lgh LA Baled) ALS) (o)
sLA1 Gl SSINI (po wslg Jgo wiluis)
v Sbeass Jelat)

11- Choose the correct answer:
ortho-Chloro methyl benzene can be
prepared by:

Reduction of phenol; then
halogenation of the product.

@ Halogenation of toluene.

Reduction of phenol; then
alkylation of the product.

@ Alkylation of toluene.

12- Write the name of the salt:
A salt solution with silver nitrate
forms a black precipitate and by
passing hydrogen sulphide gas through
it in acidic medium by hydrochloric
acid forms also a black precipitate.

+ dovoual! Al W ) -\
(e gt (3 Jen 95818 9551 oS el

i ants @ ggati gizs (1)
O ed slall Zists @

- ol AT @3 I gieatt J1as @
97 sladl Ay @

¢ el el CSH -V Y

O s J gbons Aot | ol eln Jgdone
ey M3l cagcl cocily O9SER Anall
bl pudd J gl (B (i g ool | ol S

0985 dlygdS g gt e paamal!
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13- Choose the correct answer: + Aomouall Al W1 05t -\
Glycine is an example of: : plen Y1 Aliiel (e (paus Snd | iy
@ Hydroxylic acids. Al g gt @
(® Amino acids. At ()
@ Aromatic acids. iile g, ¥ @
@ Fatty acids. Al @

14- Explain: ¢ wd -\

Methyl orange is not used to distinguish | e =8 IES »3 1 doorad | ptsnion ¥
between sodium chloride solution and | Slialy psmagualtin)sls o slos (o

ammonium acetate solution. A9 gaY|

15- Explain: s uid -1\ 0
The fuel cell differs from the other LTy L jd (ge 358 581 Al alisns
PRIPTRY

galvanic cells.

7 Al 1]
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16- Choose to answer (a) or (b): () 91 (1) e Al W1 i -1\ 1
Show by chemical equations how to obtain: | :¢te dai s dolesl S¥alally g
(a) Carbolic acid from benzene. wm‘sf’ff“’{ 'f" 4"”’:‘:: '_‘;“‘1" (8;
(b) 1,2 dibromo ethene from methane. s S

17- 10 g of impure KOH sample was KOH e iz i wie oo 10 g i -1V
dissolved in water and completed 500ml a1 Jstoatt Jasiy slatt b
to become 500 ml. If 10 ml of this e Jstomatiinn e 10 ml gstasists
solution neutralized with 15 ml of 0.2 | <t55548) pae> Js-toe e 15 ml
M hydrochloric acid. Calculate the 0.2 Mojs,s
percentage of KOH in the sample. -4l o2 KOH 3‘-.‘-“-"%‘
[Providing: K=39,0=16,H=1] | K=39:0-16 H:L:ghiw)

8 MS’I@D
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18- How to distinguish practically ELC oS paas (s Lilas judd <8 - VA
between diluted sulphuric acid and |- S-S paasy Lol
concentrated sulphuric acid by using | &5%! & Fuaiadl pladiuby
iron. Write the chemical equations. e Bl

9 Al 1]
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19- Choose to answer (a) or (b) : () 91 (1) oo Al W1 4T -1\ 4
Write the balanced symbolic equation | 3 i1 2559681 &je 31 Aalasdt cas|
that expresses the following: oe

CH;COO7] [H;0°
@ K, = CHCOOTIHOT
[CH;COOH]
NH,"] [OH
® K, DO
[NH;]

20- Choose to answer (a) or (b) : () 91 (1) e Al i - Y

Explain: ' —uid

(a) Substitutional alloy can be obtained | *!-u! &St e Jgandt oS (1)
§dSdly custl (pe

Oblatt g slgad¥l laya plasyl (o)
§pg0liad! raiat

from ferronickel.
(b) Titanium element has high melting
and boiling points.

10 MS’I@D
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21- Choose to answer (a) or (b): () 91 (1) e Al ¥y - Y
How to distinguish practically between: | — S¥3lae 59:) (s Liles jued S
(without chemical equations). ‘(2‘*‘:“‘*“'{5
(a) Barium phosphate and barium sulphate, | %2 =5 paoldll Slauss ®
(b) Silver iodide and silver phosphate. RSl cliughy 1zl spase (o)

22- Show by chemical equation, how t0 | (e a8 AoLe st Aalally sy -YY

obtain salicylic acid from aspirin. 0¥ o Sl paex Lo
23- Choose the correct answer : ¢ Aovouall Al W1 S5 - YV
ScCly compound is : :ScCl, Sl
@ Paramagnetic and coloured. Osley undolide 5y @
(b) Paramagnetic and colourless. Oste by ustatine s ()
(©) Diamagnetic and coloured. Ostes rbrliin s ()
(@ Diamagnetic and colourless. Oske ety puntolina b (2)
1 1 vl 1]
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24- In the equilibrium system: P LN (3 AU B - YE
280, + Oy = 2805 , AH=(-) 280, + Oy = 28054, , AH=(-)
What is the effect of the following on the | #55% e-le 231 Sl ,-a0 Le
sulphure trioxide concentration: s "“"*““S ! “‘”"
First: Withdrawing (removing) the L 3t Ot Sl e Y

oxygen from the reaction. B R

Second: Increasing pressure.

25- Show by chemical equations: A b A0l OWalaally pdg - Y0
The preparation of benzene in lab; then |28y 3J—eaall 8 sojid) jiaoni

show how to obtain benzene sulphonic | #&salu (i o le dis uaxd
acid from it.

12 MS’I@D
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26- Calculate the time required to Ao 1.8 oy a3 o 301 cows ! =Y
deposit 1.8 g of aluminum Al”” when St | e AIY PYWPIN L B E Y
performing electrolysis of molten A1y CotauS 5| y9icnal (o3 1S3
bauxite on passing an electric current sl 10 458 L3

of strength 10 amperes.

27- Two organic compounds have the general | dslat dical Legt bigiae (LS 30 -YV

formula (C,H,,), one of them saturated | ,5%19(A) adivo Leausi(CrHon)
(A) and the other unsaturated (B) .(B)asiis pu
Show by chemical equations how to obtain: | s aalesh c¥slaetls mesy
First : The saturated compound (A) ol Juass

from benzene. Sep it (pe (AL) el Syl : ¥
Second: Dihydric alcohol from the S e iy S 3 kgl 3L g L8

unsaturated compound (B). s(B) c—wﬁ'ﬂc

13 Al aals
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28- Choose to answer (a) or (b) : (@) 91 (1) e Al ¥ T - YA
Write the scientific expression e JIad alal! mllaaddt clS)
indicated by the following sentence: ¢ )bl
(a) Determining concentration of known |3 0 ps-tas e 5855 (als (1)
volume of substance by using another | 221 & O=ae p2g =85 Aaslass
substance known its concentration
and volume.

(b) A solution of known concentration is
used to determin the concentration of
unknown solution.

.«6’)5:‘
(sl pudis 5.8 1 pglas J gl (o)
S Jggnn s T Jslone S 55

29- Using the following table how to tad 28 T Jguantl Loaie - ¥4

distinguish practically between: 1o ke

Ethyl alcohol and dimethyl ether 092 - deead! L3 aly AN IS
: . . (AuSheasS S¥alas

(without chemical equations)
Reagent Ethyl alcohol Dimethyl ether

AN GLEaN | J oIt Jeedt AL

1 4 Al @D
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30- Choose the correct answer:
In the opposite figure:
The (K¢) value is:

@ Equal one.
@ Greater than one.

@ Equal zero.

=S —d1 conc.

1 donouall Aol W jZBel =Y
Jalielt JSAH B
: Kc::‘-‘*:.‘-3

REENPN (TP PP} @

9Ty yS) @

Ao gglud @

a3l

Products

OMelat!
Reactants

@ Less than one.

31- Explain:
Iron that plated with tin corroded on
scratching faster than iron.

PSP E @

O—e 3! time

+ s =Y
e piastls ‘:,J_Ya.e_” NN | i.\_‘.a:i
] Jaed (|

32- Calculate Kgp of calcium fluoride,
CaF;: Providing that the degree of
solubility is 2x107 M.

P ol (S ayold Jotomat Kgp st -1
A0lgs A ys o Ceale 13y CaF,
2 10" M gl gebadt

15
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33- Explain:
On adding magnesium sulphate to
sodium bicarbonate solution, the ppt. is
formed after heating.

¢ puud VY
o p i lalt Gl 18 Jglme 28Ls| e
el 095 poagall Oliga S Joloe
. &Md‘.\.ﬂa

34- Choose to answer (a) or (b):
Show by chemical equations how to

1(2) 31 (1) (o0 Aala 1 i ¥
o a8 AL O slaatly s

obtain: cves,i e (I “";
(a) Iron (II) chloride from iron (II) oxalate. it oy b:()ﬁf :
(b) Magnetic iron oxide from iron (III) S 5y (o cpatolis gk isasST ()
hydroxide. s(III) s
1 6 atd [ 2]¥]
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35- Show by a chemical equation: +AO LeaSH Alalaally g -Y0
The effect of nitration of 1,2,3- euSgrd A5 -3,2, 1 5,05
trihydroxy propane, then write the name ) S el el ST e - Olg

o dcen]
of the product, and its importance. T

36- Explain by a practical experiment the | le 58,01 ;3 mdgd A pomd gt -1
effect of concentration on the rate of | =25 g Pl Joladl Juiae
chemical reaction. jPstbeasl atalaty

Write the chemical equation.

17 Al 1]
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37- Choose to answer (a) or (b): () 91 (1) (e Al W1 o -1V
Write the name of the organic compounds | ole J1! Gs—aatt oS rolf pw! CS)
indicated by the following sentence: sadL 8 sbalt
(a) the simplest hydroxyl derivative of | 9%>* ”w"%d”“"“@mt“”j» ®
. cilag)l
arom.atlc hydrocarbon. o 3! ol e i b}
(b) the simplest hydroxyl derivative of e
aliphatic hydrocarbon.
38- Calculate the concentration of (=2 ot 9 )il (39t 3miS 55 i | - YA

hydrogen ions of 0.1 M solution of  |o2e> 3 0.1 M 05.85,5 Jgtone
formic acid. Providing that ionization aiali Colb ol Lete ﬂwyg !
constant of it is 1.8x 10~ 1.8 > 107

18 MS’I@D
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39- Using the table, write the IUPAC names | pw¥! <GS/ quagelt J gl Cosaliue - 14

of the two following compounds: Ol el ST 0¥ ALY (o LS
3 Mm‘
Chemical formula IUPAC Name
O pall A LT Al ELaga¥ 1 AUAL @uY
i
H-CEC-(Ii-(II-H
BrH , wbhZ##® AN Y T e e\ W
Cl
ClI
Br
40- On adding concentrated nitric acid to e Lt ol nasd ! (pe dalad Gyt - § o

ol gl A3 ) Aado i 9Sad 38 pe by 0
LJelant ey N

O5a (ST (A LeaST1 S ol | st LIS
JAGdalt ola AN Aldls)

iron, a thin layer is formed on it which
prevents the metal from further reaction.
Write the name of chemical material
that can be added to remove this layer.

19 Al 1]

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 5 91 - (2 3-lad MIARLILY ) £ LeassSH- Yo VA/ Y+ AV a5 ALad) - o) A 93 Al 51 L3N 3 30 (3 Lol

41- Show the total reaction in mercury | &aslst) ASH Jolail) dtslae ciSH - £ )
cell indicating on it the oxidation and | cides lede Lnidge (G031 Ads 8

reduction processes. M (BVER (PR AWML

42- Choose the correct answer: s Avoal | Al W1 i) £ Y
The 0.1M solution which contains a e gz gty 0.1 M°}-:S{3 31 Jstnal
higher hydronium ions is: ke 50 99 )ugl Sligal o 8 5 e
(@ CH,COOH CH,COOH (1)
® NaCl NaCl @
(© Ba(OH), Ba(OH), @

KBr KBr
@ ©)

20 atd [ 2]¥]

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 5 91 - (2 3l WAL ) £ LeassSH - Yo VA/ ¥+ W 501 A Lad) - Aol A 3L Aaal 51 LGN 3 3G (5 Lochn!

43- Choose to answer (a) or (b): () 91 (1) oo Al W1 i -£Y
Show by chemical equations how to | Je>daS 2oL S¥slaal iz
obtain: role
(a) Sodium benzoate from toluene. 099l e pgusgeall Slas (1)
(b) Benzamide from benzoic acid. FRasill phes Gt el ()

44- Show by chemical equations how to + A0 LeadSI S¥ slaat Ly g - £ ¢
obtain: O (9=l gl (e Jiad oS
Propanone from 2- bromo propane. 301290 9090 -2

2 1 Al 1]
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45- The opposite figure represents the § LN YAty - £ 0
electroplating of metallic rod by a 2 pws Ao Ads (o ey
layer of silver. -4uaall (e Adday Addae Bl o o

I
AgNO,

First : What occurs in the electrode s e (B) cotmatr ey e c¥i
(B)Write the chemical equation AleaST) Wslast)
Second: Calculate the mass of silver i Bpus el ) LRl LS s LS

0.1 Lo 508 2y 5531 (g0 S 59 50

deposits on passing a quantity Ag = 108 o Leke cstatylo
A o n QUL

of electricity of 0.1 Faradays
[Ag=108].

Al g
22
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